D1vISION WITH A REMAINDER II (H - SET 4)

DIVISION WITH 1 TO 10 Name:
Time: Score: y—

151) 598 = 9 — 166) 14499 - 9 =
152) 10786 + 2 = 167 8226 +2 =
153 2170 = 1 = 168) 350 + 10 =
15 49111 =5 = 169) 71481 + 8 =
155 7105 = 8§ = 170) 45044 = 8 =
156) 8131 = 3 = 1) 3735+ 1 =
157) 68224 = 7 = 172) 57196 + 8 =
158) 332 =~ 1 = 173) 61150 =9 =
159) 21653 = 9 = 1) 20 +-4 =
160) 2307 =2 = 175) 30830 - 8 =
161) 61805 = 9 = 176) 14065 = 7 =
162) 5047 + 10 = 177 76496 + 10 =
163) 73053 + 9 = 178 15987+ 3 =
161) 56719 =— 9 = 179) 64040 = 8 =
165) 8641 = 2 = 180 50666 ~ 7 =

Mathematics: Division - Level 8 - Horizontal - Set 4
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